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02 2=22gHl 100,400 88,720 11,680
Os32= % NA 100,400
oA ol gcCTVvE g 99,680,000& * 14 99,680
o NSAMPA HLHA 23l
60,0003 = 1201 & 720
401 A& HIZ 20HYI 20,000 20,000 0
01 Al &I 20,000 20,000 0
OAlddl & 20l 20,000
o(CCTV FAIE = 20,000,000& * 14 20,000
BHAF el & JMAAY 13,009 6,877 6,132
= 13,009
Ml =& Il ol Ak X & 13,009 6,877 6,132
= 13,009
101 21241l 8,009 5,477 2,532
= 8,009
04 J12HHZ22NSES 8,009 5,477 2,532
OfzZ=2 ¥R EX o4
8,009,000& = 14] 8,009
= 8,009
201 L2 H| 5,000 1,000 4,000
= 5,000
01 At 2teldl 5,000 1,000 4,000
0122 F+2 ANRBE ¢
5,000,000& * 14] 5,000
= 5,000
& g #43 129, 150 98,500 30,650
FolAdZAH2S 111,400 74,400 37,000
201 L BH2HH| 61,400 74,400 A 13,000
01 At 2teldl 61,400 74,400 13,000
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A= IR SN EZXAD
o AZEO S YL NXATUSHUBNTIHY /LT
L ®ol Mg 243 (el &2
_ _ SIEN
CEN I SR(EH) - NRAY - BAS 0 & 24 e HRE2
202 04t 2,600 2,600 0
01 2U0i 8] 2,600 2,600 0
OCS# Y LR 30,0002 * 2% * 103 2,600
SHM2ARY (HRNAD)(IIEHIIE) 11,610,041 1,700, 190 A90, 149
=2l (52) 11,387,381 1,526,835 139,454
JIH S22 QA I X 195,081 187,766 7,315
101 2121t 195,081 187,766 7,315
ESIPTEEESEPS 195,081 187,766 7,315
O=ZRL2OIRBELY)
934,517,0008 * 4.5% 42,054
ORLAYBHLLZOIRBESY)
934,517,0002 * 2.82% 26,354
ORIIRYPHLLZOIRBESY)
26,354,0008 * 6.55% 1,727
ONE8EE=L2OIRBS2Y)
934,517,0002 * 1.95% 18,224
OUEERL2OIRBE2Y)
934,517,0002 * 1% 9,346
OSX2RYZOIATS2Y)
1,622,9188 * 4% » 15 97,376
DL X 11,192,300 1,339,069 146,769
303 A3 4,400,941 3,675,791 725,150
02 & DHA0I2 4,400,941 3,675,791 725,150
O &421204(SE3)
2,787,6002 * 2442 * 230% 1,564,402
O20%-50%(ASS)  2,787,6008 * 3648 * 160% 1,623,499
O50%-90%(BSS)  2,767,6002 * 487 » 90% 1,213,040
304 23R L3S 6,543,293 7,663,278 ~1,119,985
01 I3RS 4,783,901 6,105,961 A1,322,060
oozegz 39,613,615,0008 * 7% 2,772,954
ORF3 39,613,615,0002 * 2.337% 95,771
OSIX4+g=22  39,613,615,0008 * 2.7394% 1,085,176
2 2LIALBE S 1,759,392 1,567,317 202,075
ORAYLHES  56,791,996,0002 * 2.8%% 1,601,535
oRYEEE 1,601,535,0002! * 6.55% 104,901
OJIEIN T2 18283
1,677,866,0002 * 2.82% 52,956
307 2I2H0| 248,066 0 248,066
07 H3N22 248,066 0 248,066
OM a2 72,728,0002 * 14 72,728
OB &S0 2,697,508 * 65% 175,338
=24 202,660 173,355 49,305
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A2 BN SN YD
A HA2AAH(HFRZL)(IIEH/DIIE)
el Jl=3 (ehel: =3
AT RN FH-SAEH) - NRAY - B 01 &t o8 Bl HlRE2
T 0 & 24
Jl=&d| 222,660 173,355 49,305
201 ZEt2FH| 31,200 31,200 0
01 AtR2tel 31,200 31,200 0
Oget=gH| 13,560
cHIARESHI 100,000& = 403 4,000
oHF & Hl =2l 100,000& =+ 402l 4,000
o J|Et==EH| 5,560,000& = 14 5,560
O=&l 17,640
SIS TN
7,000& * 2108 * 12& 17,640
202 o4l 14,800 14,800 0
01 =2 A b 14,800 14,800 0
OJlzd RN 14,800,000& = 14 14,800
203 H =&l 176,660 127,355 49,305
01 J/22E PR FAH| 138,600 89,430 49,170
OJ| 22 AL FX(AIZE) 79,200,0008 * 14! 79,200
OJIA2IHRFE(RAIF)
56,100,000 * 14 56,100
OJI2A2FLRFA(ZE)  3,300,000& « 14! 3,300
02 I R=AH 33,500 33,365 135
OZRAIMNMHRFA 33,500
= 100E Nt X 80,000& * 1009 8,000
= 101~300Z Nt X 60,000& * 200 12,000
=301~600ZF Nt X 45,0002 * 300 13,500
04 EXM2E IR 4,560 4,560 0
ORN2EYRFA 4,560,000& = 14l 4,560

_24_




= AH O
N = 0 &8 AF S & Al A
A= HAEHXAZ 2A  HMEN
HH: M-St/ ANYSE - WEXH)
Sl XM= (e
- _ _ bSRE Y=
A= .25 - F3H .S () - MBAIY - BES 0] AFCH @;OH Hns
sl 1,116,631 790,383 326,248
HE&ss (Lot d /NS - HE X)) 1,073,751 747,503 326,248
N S 801,501 481,384 320,117
NEA & Ao+ 20 495,128 223,361 271,767
101 Q124 H| 10,792 10,476 316
04 JIZHH2Z2NHEE S 10,792 10,476 316
OXsxt = . SEM gREX X 10,792
ollEg 37,6002 « 19 « 230 8,648
oFELY 37,6002 « 19 * 46 1,730
oA Xt=E 37,6008 * 19 » 11 414
201 LEL2HH| 225,818 212,885 12,933
01 At22t2|dl 85,680 83,230 2,450
Ogbt4=24] 76,000
o XAl &Ml D XA 60,000 * 5508+ A 33,000
oXYA Mg S=0XAM
60,000 * 1008+ A 6,000
o N2+ EAHIDXA 60,000 * 508t A 3,000
oluuExz HEEHE {150 * 20,0000H 3,000
o= FHOINZRIE AREH|
16,000,000 * 14! 16,000
oXlYAH EEE S H=
2,500,000 * 62l 15,000
ogdsd 9,680
oXletMlalofI2E 70,000 * 18H x 53| 6,300
oI EMARI A3 70,0008 * 143 = 13 980
oDIAEHHIDDR NS QeiZAI2
200,0002 ~ 1% « 12& 2,400
02 3329l 140,138 129,655 10,483
02322 2 HA 140,138
o XM DX AEE (e
2702 * 360,000 * 13 97,200
oXNeMIXNMNES(SII)
1,770& = 15,000 * 13 26,550
oJ|EF DXNMES(SII)
1,7702 * 2,000 * 13 3,540
oEFEIASKE ¢S
2703 * 34,620 9,348
ost=2XLANES 3| 500,000& * 14 500
oKNLHMEEZXA AOIE =2
3,000,000 » 14l 3,000
306 &2 8,518 0 8,518
01 &3 8,518 0 8,518
o492 8,518
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A= HEXE= SN T MED
HH: M=2F5(2e238Y /ALY - WEXE)
NPT (EER-E]
SAl - HE . CHR(F]H) - NBAIY - TAS A} OH &EIE Hn=2
. 71 (2 ° . = * dos =5 O:H{ﬂ_% Lsa
cXNYNAAA EHSF 8,518,000 * 14 8,518
307 2120 A 250,000 0 250,000
04 QUtHAIE X 250,000 0 250,000
OO0IZtSHAL BEX 2 250,000,000& = 14 250,000
A2 MY T2 SAES 129,468 119,316 10,152
201 B2 | 54,084 57,660 A3,576
01 At 2teltl 54,084 57,660 AN3,576
OIXNMNMSEI RANE=* 300,000& * 122] 3,600
ONHZEHI RNES 970,000& * 123| 11,640
OXNLNMAME & MA=LMNMH RRES
2,059,000& = 123l 24,708
Ot XMg2elAlA" SN 222
640,000& * 123l 7,680
OJt&HZANAE RXIE 208,000& * 123 2,496
ONEXHHSE IAXNAAHE S/WRAE
330,000J * 12§| 3,960
207 & O] 22,000 0 22,000
02 & AR 22,000 0 22,000
O AN AAE HIEELSS 25
22,000,000& * 14 22,000
403 XXM S X201 ™ 53,384 61,656 N8, 272
02 3|2 SHICHSHH & AL I 53,384 61,656 AB,272
OXZLAN BEAIAEY X2t
36,884,000& * 14 36,884
ON2+=2 SEAIAE K22
16,500,000 * 14 16,500
Mg A3 145,305 107,357 37,948
201 B2 HH| 110,305 107,357 2,948
01 AR 2teld| 19,900 14,372 5,528
O3] 19,900
oI Z0HHZHI 500,000& = 15 7,500
CREMNYR U BAZSLLR
3,000& * 2,800 8,400
cHEA sEHENS =2
4,000,000 * 14 4,000
02 2323l 90,405 92,985 A2,580
O3 AHA 87,405
ocREZ 87,405
-JIEF DX ML S (SII)
1,770& * 1,300& * 13 2,301
sSEyws(gu)
2702 = 8,0008 = 63l 12,960
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04 Nz

2

= wExE= SA MR D
B HSEE(LHBBEE/NYHE - WD)
N Al==ZTH A
S M. O (B H) - NEAY - B A} OH dEE ot
. =Tl 2 * - [= e B (] 0:”{:'_% [=]
EESTEEES)
1,7708 * 3008 * 43| 2,124
Mg DX MeSs(er)
2703 * 60,0008 * 43| 64,800
CHXW DA s ()
2703 = 7,000& * 23| 3,780
DY RESHAUZ LS
2703 * 2,0008 * 23 1,080
- AtS Xt XX KSUAAAAE Ol
sHg Sz 30,000& * 123 360
OXH&F. & By 3,000
oM AXGMAALY S EE(XHE)
3,000,000& * 14 3,000
207 AR | 20,000 0 20,000
02 & AHJH Y| 20,000 0 20,000
OVTUS LRAAH 1S
20,000,000 * 14 20,000
303 L al= 15,000 0 15,000
01 &2 15,000 0 15,000
OdaZAMZ 15,000
oEE X I AS
10,000,000& = 14 10,000
oMAE= a3 5,000,000& » 14 5,000
|[2M =S HAIE 2 | 31,600 31,350 250
202 (4 4| 29,100 29,100 0
01 = LHOd B 29,100 29,100 0
ONSREsSZA ]l 200,000& = 3% = 83| 4,800
O 200 (bH +=3d) MAXZ S HFA oyl
150,000& * 29 = 133] 3,900
OJlels| M X d3 &4 oyl
150,000& = 2% * 283 8,400
O&2 MK B2+ Y = Ol
50,0002 * 4% * 113 11,000
OMERe 8g AdIXE HSEHAX Y]
10,000& * 29 = 503] 1,000
203 g R F=&| 2,500 2,250 250
03 Al FAY R 2,500 2,250 250
OXI N5 =& 2,500,000& * 14 2,500
FMIAtE S & T AL 128,854 127,723 1,131
HFEEY 2 A Al 112,654 111,523 1,131
101 2124 d| 38,654 37,523 1,131
04 J|2tHI 22 Xt 38,654 37,523 1,131
OJh & =&t gEEx 10,792
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N e S MED

Y NS (Lot /NS#HEY - HEXA)

SRl WA E S XA (ctel &
A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE H =2
= = o7l (= ° TNs a3 &= 04| AFOH U=sa

oJlE=z 37,600& * 1% = 230 8,648
oATH(EE. ANALEE)
37,6003 = 1H = 57 2,144
ONEFEIATA RLEX(SHS) 27,862
oJlaz 37,6002 * 50 * 13Y 24,440
oxgd 37,600 = 72 * 13Y 3,422
201 L2 IH| 74,000 74,000 0
01 At 22l bl 74,000 74,000 0
OFSINAEN 2E448
74,000,000& * 14 74,000
dE2C GRFA 5,700 5,700 0
201 L2 H| 5,700 5,700 0
01 AR 22l | 5,700 5,700 0
Oggt+=2Y| 4,300
o RSAEIIRRAS ISAMF 1A
500,000 * 43| 2,000
oABRE S 2,300,000& * 14 2,300
ozgd+¢ 1,400
oREMEIIASZ  70,000& * 10¥ * 23] 1,400
WGMAE SEESTAF 2FEH| 10,500 10,500 0
202 44| 10,500 10,500 0
01 =LHO B 10,500 10,500 0
OX A BAIXZ EAE O8I
140,000& * 15Y = 53] 10,500
KA Hol Al 2 143,396 138,396 5,000
QIREHOME = 143,396 138,396 5,000
201 B2 IH| 143,396 138,396 5,000
01 At 22l | 143,396 138,396 5,000
ONEN ASL2U 42
2,000,000& * 43| 8,000
O+ FSais +42
500,000 * 43| 2,000
OXNZYAM XSOIM 2822 66,0008 * 63l 396
OXEA IHEZM =2
5,300,000,000& * 2% 106,000
OMe=+g IIEEM =2
8,000,000& = 14] 8,000
OXZAM JHAAHE 22
80& * 112,50024 9,000
OXERE =2 5,000,000 = 14 5,000
OXLAN g2 2¢ct2 dHNE =5
5,000, 000& * 14 5,000
HY2AZU (M) (IIEHDIE 42,880 42,880 0
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= AH O
N = 0 &8 AF S & Al A
A= HAEHXAZ SAM 3 H
M WE NS (Lets3Y/NSSHH - THEXH)
e EYs 322 29 (e
= X o = = 1F- I|_-|LI;=|_||:_ =
A= .25 - F3H .S () - MBAIY - BES 0] AFCH Ol AF o8 Hns
S| Al ot 60,474,916 58,136, 182 2,338,734
= 291,750
Al 60, 183, 166
HE XN(LetsssHy /Il - HEXH) 510,376 504,526 5,850
Egst A2 29 510,376 504,526 5,850
ANEZL L SAL2)| g2 29 35,526 35,526 0
201 LEH2HH| 35,526 35,526 0
01 At22t2|tl 35,526 35,526 0
O et 9| 35,526
oM F BEEME QM
22,500 * 4008 9,000
oG ALY
70,000& * 49 = 20 5,600
o ZBOGIHAMN MREIAN HEEY
15,000,000 * 14! 15,000
oTHRE DA 22t 5,926,0008 = 14l 5,926
288 HAHE 2 29,390 25,340 4,050
201 LBt AHH| 29,390 25,340 4,050
02 S32gH| 29,390 25,340 4,050
O ger2dd| 29,390
olLItEH 0l2422 20,0002 * 3003 6,000
oI RALS
670,000& * 12& 8,040
oHlAMORRAG EAMLY
70,0002 * 53 * 9¥ 3,150
ORFID HE X AZCIA ARSI B
4,000,0008 = 23l 8,000
ool AHAAIUIAICH 2208 |AES
350,000 = 12& 4,200
ANE L SAR)| 283 5,900 5,900 0
202 044l 5,900 5,900 0
01 2LHN b 5,900 5,900 0
OX&sY 2A2)|24 04l
5,900,000 * 14! 5,900
EHALZ(AR) s 439,560 437,760 1,800
204 AR AH| 439,560 437,760 1,800
03 EHA2AHI 439,560 437,760 1,800
OZAEHdE 22 (520l0t)
80,000& » 78 = 12& 6,720
ONREYB2a 67,200
o Al23&(520Iat) 100,000& 33 * 12& 39,600
og.H.5(63015})
100,000& * 23¥ = 12& 27,600
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A= HEXE= M 3 H D
M WE NS (LesSHIY /NS - HWEXIH)
o©el: EHE 322 29 (e ®2
NI X EH . ClO (5 S AL . HA 2 Al OH HEE =2}
ouflarge 322 (520186t)
150,000 * 7% » 12& 12,600
Ozsaciggze
60,000& * 29 = 12& 1,440
OHE=gdEI3EA  100,0008 = 19 » 12& 1,200
O g sHl(620l0})
50,000& * 584%H « 12& 350,400
HAY HA2H (LA /LB E) 6,824,087 7,083, 144 A259,057
= 150,000
Al 6,674,087
SENHE X ZIESE 2 249,376 201,042 48,334
2T Y 22 SNL4 214,976 170,642 44,334
201 B2 HH| 212,006 167,672 44,334
01 AR 2teld| 51,750 25,750 26,000
Ogt=ZH| 5,750
oltsAHAI==2 25,000& * 30CH 750
ocNEEZ SHIE 2 50,0008 * 10004 5,000
O3sxe gz 46,000
oSEkt 600,000& * 2CH * 103 12,000
o=EEsEX 400,000 * 2CH = 10& 8,000
oZEXY ARz (2lA)
26,000,000& * 14 26,000
02 2329l 160,256 141,922 18,334
O3=2Zt| 160,256
o Xt XA 197,400& = 31CH 6,120
ocdRI BIIMERES
63,0003 * 3100 * 23l 3,906
oltsxt BEE= 330,000& * 31CH 10,230
oXtE®RFH & =&H|
140,000,000& * 14 140,000
206 T 2 Hl 2,970 2,970 0
01 =4l 2,970 2,970 0
O Z 8l 2,970
o2& 2t B P& 1,000& * 2703 270
oczZ&&2 el e P
1,000& * 1,600& 1,600
o232l XtHM F 1,000& * 1,100& 1,100
SEIIA AR R 4,400 4,400 0
201 LBer2gH| 3,000 3,000 0
03 A2 3,000 3,000 0
O A2 Z I 3,000
SIIMMEFUS AAE 300,000& * 108 3,000

_31_




0z N>
J2

0RO 02

= S B
A THAS S (LU DD /ABe )
gxy 2 2822 e

SR HE SR (B) - HRAY - B S Aro B =2
0l &
301 et a3z 1,400 1,400 0
10 AL HIEA S 1,400 1,400 0
O AMEHIENS 1,400
SIIMMSUE (OtE) =4l
7,000& = 200 1,400
CHAl XbeF—ed 24,000 20,000 4,000
405 RHetE S HI 24,000 20,000 4,000
01 XML EFHSHI 24,000 20,000 4,000
OLFEX&E WA 24,000,000& * 1CH 24,000
EXE L =35 29234 6,000 6,000 0
202 ¢4 4| 6,000 6,000 0
01 =2 WA bl 6,000 6,000 0
ONAYLET U 2FIIA EFOI)
20,000& * 4H « 753| 6,000
S MaE 2tel 2,140,481 2,625,707 A485,226
SR =2l 2,137,481 2,622,707 A485,226
101 @1 24H| 11,139 10,836 303
04 JIZtH2 2 S ES 11,139 10,836 303
OZFMAMNEBZAIRE I2Y 11,139
=Jl=g 44,2002 » 19H = 200 8,840
oFF Y 44 2003 * 18 » 42 1,857
o AHX+Y 44 2003 * 18 » 10 442
201 ZEt2FH| 40,500 48,000 27,500
01 AtR2tel 40,500 48,000 AT,500
Oger2dl 40,500
osllx==2 25,000& » 60E X 1,500
oFEHrxZ 15,000,000& * 14 15,000
od¥ AT 250,000 * 284 * 20 14,000
CcRFESA 31 5,000,000& = 23l 10,000
401 A& HIZ 20| 2,085,842 2,543,871 A 458,029
01 Al€Hl 2,085,842 2,543,871 A 458,029
OA&EHI L=y 2,085,842
o O Xl TH &FE XI 01 2 B
2,035,842,000& = 14l 2,035,842
cARYUBHE B 50,000,000& * 14 50,000
dtzte] 23 3,000 3,000 0
202 (44| 3,000 3,000 0
01 =2 WA b 3,000 3,000 0
Oyl 3,000
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D HEXNE=

D3 SRMA 2t (ce &
2.8 XM . (5 NEAMY . BH2 AF OH HdE T H D=2t
— T

20,0002 * 191 * 1502 3,000
CSHA S S 1,795,000 1,960,000 165,000
A AE U S5 1,795,000 1,960,000 165,000
401 Al 2B 2T HI 1,795,000 1,960,000 165,000
01 Al& | 1,765,000 1,960,000 195,000
OZYSFAUAME UETA
1,470,000,0002! * 14! 1,470,000
OSYSFOUME 25 S5 =NY 27
120,000,008 + 141 120,000
OM2EA 2129 AHY WREFTA
150,000,008 * 14! 150,000
OZH SAYMH ABAE 2228
25,000,0002! * 14! 25,000

02 2l 10,000 0 10,000
OZEYSTUME 4= 2l
10,000,0008 * 1 10,000

Hl 20,000 0 20,000

=
OsdsxdE &A= 204l

Jz

20,000,008 * 14! 20,000
Haze - 29 2,639,230 2,296,395 342,835
= 150,000
Al 2,489,230
HAAE e 2,237,030 2,103, 195 133,835
101 0121 4| 22,365 20,370 1,995
VPIENEE =P 22,365 20,370 1,995
OJAH2ERSES 22,365
oHAZZ B2 (20)
72,4108 * 30% * 103 21,723
cHAZYUR(DBRH)
72,4108« 1.95% * 30 * 103 424
SHAZZ R (MTHEE)
72,4102 * 1.0% * 30% * 103 218
201 YptS A H| 1,642,787 1,583,377 59,410
01 AFR 2 2lH] 103,129 113,129 £10,000
OYst 8| 93, 119
cHASE U ASKK
375.0002 105 « 83 30,000
SHAZHAL (D HEE) HAE
2,500,008 * 23| 5,000
oHAFEE HaE 6,000,0002 * 14! 6,000
oHALSE 702 * 36,200m * 63 15,204
CHALBAL BELLE
9,334,008 * 13| 9,334
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2 HINA= SAEHD
M HAD AR (UBBTHY /UBHE)
ol AR - 2% (Sl &2
- _ _ Muo
AR 2N B SR(S) - MBAY - BAS 0l &k 24 e HlnE2
CEMSLIIFINZAN 248
200,0002 * 6CH 1,200
CHAIYYAIL (LS ZAASE
4,00020 * 174.36RT * 2CH 1,395
CHALSAL (2Y)BALSE
200,0002 * 7CH 1,400
SEA NANM(TANA)BEL4E
500,008 * 13| 500
CEAMEIAL B +22
1,5002 * 5,300kW * 13] 7,950
CEAM AL BALSE
2008 * 37,840M * 23| 15,136
OSIE RS 3,900
oFIIJtA HIIRS S
300,00090 * 133 * 13l 3,900
o= 1,000
olBsa HYALX 22
10,0008 * 10 * 15| 1,000
o3zl 5,110
olBsal SAY| 7,000 * 2% + 3652 5,110
02 ZZ2YH| 1,539,658 1,470,248 69,410
OZZR2YHA 839,976
oEAM ®IIZ 30,000,008 * 123 360,000
CHAM HEEER
1,10020 * 2,500m * 123l 33,000
SEA W L (OFA) 13,000,008 * 125 156,000
oA 2OrEE Bl | 800,002 * 13| 800
CASHANLLLS 3,000,008 * 23| 6,000
oTHHZSTE (A2 ALS. AHEH)
408,350 * 34021 138,839
oc&dlbla MBI 1,040,7408 * 1312 136,337
cnERYRLS 4,500,000%! * 23] 9,000
OAlE FHISXHI 699,682
o HAIS 2| 1,000 * 37,704 37,704
CHAM HANLE RNB4
4,000 * 5,300KW 21,200
CEAM ABNEE RXBA
5,000,0002 * 23l 10,000
CEA BUAA(TALHS) RX2S
3,000,0008 * 33 9,000
oYl RNBLR 8Y
2,000,0002 * 123l 24,000
oysize 89 450,008 * 123] 5,400
o B ACCTVR X 2 4 1,000,008 * 5CH 5,000
CHAM HUETAY R L RN (F28
&I, 22EH) 2,500,0008 * 2CH 5,000
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D yINA= SN A
DEAMY S (UBBIUY/ABH )
D ARl - 29 (el @2
- _ _ Muo
CRN - BE OIS - MRAY - B S 0l &k 24 e HlnE2
SHA BIIFSAE RXN2H(2H)
5,000,0008 * 23 10,000
SF AL IBSEHl RXISE4 1,000,008 * 5CH 5,000
SBAAES R 700,0008 * 2% 1,400
o5l RNBS 400,0002! * 5CH 2,000
CRUIIH - TY RNUES
2,000,0008 * 14! 2,000
oHASY 92|t 516,378,0008 * 14 516,378
SEAL IBSAIAE el
2,500,0008 * 123 30,000
SHAM IIES RS
80,0002 * 355 * 23 5,600
oHA WSI| ZH| 5,000,0008! * 2k 10,000
206 T2 | 132,902 113, 152 19,750
VL] 132,902 113,152 19,750
OFARX24 Mal 132,902
CWAESASRH 50008 * 2004 * 20H * 23l 4,000
oYUy HBA 3,50021 * 200 * 62 4,200
oSS R2RIA  4,5008 * 76kg * 6CH 2,052
SWER(ALIA3GS)  4,5008 * 1004 * 6CH 2,700
= 24 Z Hl (ORYER) 50,0008 * 1201 600
o=ptol(0le@Z2IZ)  1,0002 * 1,000K6 1,000
oYYy L84S 1,0002 * 1,000KG 1,000
o MEH BAHR (24U 4E)
50,0002 * 55 * 407 10,000
oS (HBS)405
1,00080 *20% * 5,0009 * 10/100 10,000
o ory| (HIZS21205)
20,0002 * 20% * 12574 * 20/100 10,000
SHIME(NLY 2EHE)
100,0002! * 1005 10,000
SAMAME (AN LRENT)
50,0008 * 105 * 305 5,000
oOIH&Y Y. T2lA 200,008 * 35 600
oBUY B 4,0002 * 1,500 ¢ 6,000
CHANEYS BLME LCCTV 22
1,500,008 * 8% 12,000
oZZ0{8IX PY 120,0002 * 5004 6,000
CSLI(ZHREE)S 105
1,800,0002! * 105 18,000
SEAMIANZI| BHH P
3,000,0008 * 274 6,000
oQC U (HIEH)PY 27,5008 * 50004 13,750
401 Al2HI L S CH bl 268,976 326,296 A57,320
01 Al Hl 268,976 326,296 A57,320
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0z N>
J2

HET| AR

DA THA
A2

Ao ¢ HO
f

S . A . GO HEAY . A2 Al OH HEE =
2N - EHH - |(9|):”)' J2AE - HA S o= O] AF OH =]
OFAN AIEE= 1,400& = 37,840m 52,976
O&EAMN HSI| 2 ES Fdl E=
5,000,000& * 2CH 10,000
OFAL 2 Hi2 HIHHE WXl
10,000,000 * 1CH 10,000
OFEAMN d = £9101 &€ W
2,000,000& * 10CH 20,000
OFAN MBS Y HEZ20lEE WX
2,000,000& = 10CH 20,000
OFA s 2ZZHI(3.4501)
12,500,000& * 2CH 25,000
OBA BE % MU wF 24
2,200& * 10,0004 22,000
OFA B2 H2IHSAL
20,000,000& * 14 20,000
O&AMN SIX3II8H & =5 2S0A
2,000,000& = 12CH 24,000
OFAF BH=HIZ WX 2,500,000& * 4CH 10,000
OFE AU Ar24!L Ol ™ XHHH X
55,000,000& * 14 55,000
405 RtabFE S| 170,000 60,000 110,000
01 AL ESFHEHI 170,000 60,000 110,000
OAIR4 I 2 287¢
70,000,000& * 14 70,000
OFASFoUHEH AIRED| 2
100,000,000& * 14 100,000
HAMAIE B3 FH 46,200 37,200 9,000
206 i = H| 12,000 12,000 0
01 i &4l 12,000 12,000 0
O =t 12,000
SHA T AN oHTY
200& * 10,000 * 23] 4,000
ocHAIZE HIge 400& * 10,0003 4,000
oA EH(Z) 7Y
4003 * 5,000 * 23] 4,000
401 AlEHI L2 0HHI 34,200 25,200 9,000
01 Al &I 34,200 25,200 9,000
OAlI&HIZ 20| 34,200
o AlEAI JIZ24 MSEH INAAIZ
300,000& * 40 12,000
o AlEAL D2 MAFR  330,000& * 40 13,200
oFHAMN XEEF(AUR)>Y MY
300,000& *» 30 9,000
HAI22I R X 29 23| 6,000 6,000 0
202 0dl 6,000 6,000 0
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e VEE SA 8D
I HAY NASH(LUDDHE /L)
SRl FArztel =24 (S :®2)
AR RN I B(EN) - HEAY - B2 0f & o e HImE 2
01 2 LHO HI 6,000 6,000 0
ONHl 6,000
o&HAr2tel =& OHl 20,0003 * 6% * 503 6,000
A HEUXNEY JEd A2 L 350,000 150,000 200,000
= 150,000
Al 200,000
401 Al HIZ 20 350,000 150,000 200,000
2 160,000
Al 200,000
01 Al &I 350,000 150,000 200,000
= HEZ WX3A 50,000,000& * 14 50,000
OAEA ZHS(LED) wHM SAt
300,000,000& * 14 300,000
2 150,000
Al 150,000
Y2 ZHI (3 H D) (IIEH/IIE 52,573,953 49,965,512 2,608,441
= 141,750
Al 52,432,203
OH2AH(B) 52,411,353 49,809,512 2,601,841
2 141,750
Al 52,269,603
SRR AHI XA 51,185,625 48,807,057 2,378,568
101 2124 d| 49,543,365 47,165,577 2,377,788
01 8 47,641,447 45,195,358 2,446,089
os3 30,363,400
o232 (¢ aE) 82,505,000& » 1H 82,505
o33 (¢ a) 76,700,000& = 1H 76,700
o4z (H8) 70,166,000& * 49Y 280,664
obhg 3,698,200& * 53% » 12& 2,352,056
SL= 3,175,800& = 22794 » 12& 8,650,880
o7= 2,568,800& * 23794 « 12& 7,305,668
o8= 1,791,000& * 1819 = 12& 3,890,052
=9= 1,497,300& = 98% » 12& 1,760,825
oJ|lsH 5,706,175
= 3,270,7002 » 15% » 123 588,726
= 2,960,300& = 499 « 12& 1,740,657
- 8= 2,682,600 » 56% = 12& 1,802,708
- 92 2,063,800 = 469% = 12& 1,139,218
10=2 1,575,600& = 239 » 12& 434,866
ocEHHFA 91,490
o= 2,970,100& » 1% » 123 35,642
= 2,863,000% * 1Y « 12& 34,356
- 8= 1,791,000& = 19 = 12& 21,492
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OH
i

0

0

0

0

O
Jm

0

0

0 0

0

HXH= A S
B2 (314 D) (JI1EHIIE
SECTIEED
SM-H L SRA(S) - MRAY - BAS
SRR
L 5,026,700%0 * 1% + 122
o T AL 2,985,800 * 2% » 122
oXEH
- XIS AF 2,867,008 * 1% » 122
SINIGE
o2y 29,923,536,0008 * 1/12
OxW224Y
ollz2e
80782 » 9922  10AI2F » 128
SEEEE
=5 80782 » 504  25AI2F + 128
AL - SRS
8.0782 » 3982 * 15AI2F » 128
CORI2RAY 21,548 * 2% * 3652
cgpuaRY 60,8538 * 329 * 1002
ORULg
otESY
BRI 40,0002 * 998 + 0.9 * 122
S RIPIES
20,0002 * 998 * 2.0 * 122
S UELTEES =,

. E8 D 51,900 * 998 « 0.3 43
nssn
419,002 * 9982 + 0.2 43

HI4YOEZ 100,008 « 9988 * 122
Hezee+y

30,363,405,0002 * 4.1% * 35/100
DYTLALY 30,0008 * 208 * 122
SR
RIE 50,0008 + 15% * 1%
=E= 40,0008 * 23% * 122
4o@gt
pESE RS
52014} 50,0008 * 102 * 122
672 30,0009 * 1239 * 122
8201 5t 20,0008 * 75% * 12%
lEYeag It
Il At 30,0002 * 208 + 128
NE=BIIN: 20,0008 * 50% + 128
plngesg 80,0002 * 38 + 128
oEgesy 70,0008 * 1% + 128
SRR IR

131,981
60,321
71,660
34,404
34,404

2,493,628
2,493,628
3,190,272

961,606
2,018,208
1,439,500

578,708
15,728
194,730
2,967,597
910,176
431,136

479,040
396,866
62,264

334,602
1,197,600

435,715
7,200
20,040
9,000
11,040
488,304
68,280
6,000
44,280
18,000
19,200
7,200
12,000
2,880
840
2,160
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2= A A
% 2l (5134 (1 EH/1 EH)
JHI(5Z)
N EB - S(3) - HEAY - BaS shoy e
M EGE X 30,0008 * 2 « 128 720
S|t B 30,0008 » 2H « 123 720
g2 22Xk 30,000& * 2 » 12& 720
oNSASH L Iy YL +9
40,000& » 25% = 128 12,000
oNMAMHIRLH 6,000
3= 0l & 50,000& 108 = 128 6,000
o AM=E 20,000& * 4H = 123 960
cQIAAPRLE 30,0003 * 2479 + 128 88,920
oEHES2R=+Y 70,0008 x 285€ x 128 239,400
oXerd 5,904
620l &t 40,0008 » 48 = 123 1,920
= 38,0008 * 5% = 123 2,280
=] 36,000&  3H * 123 1,296
=) 34,0008 » 1" = 123 408
oddsg IJtit= 24,120
ZANEE 240,000& + 59 « 12& 14,400
FE3& 22l 270,000& * 3 » 128 9,720
oASXNHPR+E 30,0008 » 49% » 128 17,640
@11 = ESE= 1,345,275
o A HA 1,541,550 = 10 » 60 924,930
SIS 1,401,150& + 5& « 603 420,345
OFASAHI 130,000& = 998Y = 12& 1,556,880
OZEFIHHl  29,923,536,000& * 1/12 = 120% 2,992,354
O ItE &I
30,363,405,000& * 1/12 = 0.86 = 1/30 » 10 725,349
2
O™ &HI 43,382,498,000& * 0.035 1,518,388
02 JIEtA E = 1,901,918
OF=3-EN 1,543,211
ollEgs 1,043,328
s= 2,675,200& » 30 = 128 963,072
d2+E 963,072,000 * 1/12 80,256
o ItEdE 28,800
B BN, 40,0003 = 30 + 1.0 » 128 14,400
- 22IHE 20,0003 * 308 * 2.0 + 128 14,400
SPNIE R E=y 11,931
=st 51,990& » 30 = 0.3 * 43 1,872
DSstn 419,090& * 30¥ * 0.2 » 43l 10,059
o I24EIt=  100,0008 * 30 * 128 36,000
oZEI =¥ 2,400
gr& 40,0008 » 58 = 123 2,400
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HHHI (2 H D) (OIEHDIEL)
2| (BZ) (9l &2
K- E3 .S (3H) - MBAY - BAS Ofl A o4 gggf; HRS2
o Al2t9l 2~ g
8,078& * 30Y » 35A|2t * 123] 101,783
o2 R+Y 21,5443 * 44 x 3652 31,455
oggdIARH 60,853& * 5 x 83 25,254
o 22| EMH| 143,108
HHZAH| 130,000& = 30Y = 12& 46,800
HE SOt
963,072,000& * 1/12 * 120% 96,308
© 810} &b
963,072,000& = 1/12 = 1/30 = 10 26,752
o XA 68,400
CHole sl 50,000& » 30Y x 128 18,000
eyl 140,000& = 30¥ * 123 50,400
o II| = H] 400,000& * 309 * 23 24,000
OX2IHAHI 1,193, 140,000& = 0.035 41,760
OH o= 310,478
ocJllezs 244,910
- HSA L2 55,307,000& * 1 55,307
- A G2 45,201,000& = 14 45,201
- HA eta 39,657,000& * 1H 39,657
- HA 02 34,915,000& * 3H 104,745
cIltExY 5,760
=D 40,000& = 6Y x 1.0 » 12& 2,880
- 2IIE 20,000& * 6 * 2.0 » 12& 2,880
o AEHSHHIBE XA 4H 11,307
- Sstu 51,990& * 69 * 43| 1,248
- 1SSt 419,000& * 6Y * 43| 10,059
oA 2R
8,078& * 6 » 35A|12F = 12 20,357
o HMFAY| 130,000 * 6 = 128 9,360
o 810} &b
175,080,000& * 1/12 = 1/30 = 10 4,864
o[f 2l E =Y 50,000 * 6% » 12& 3,600
o X g E X 10,320
CHSEN LS 250,000& = 1Y = 128 3,000
AR OZ2 155,000& = 1 = 12& 1,860
- HEA et2 140,000 * 1H « 122 1,680
HeEx D3 105,000 * 3¥H » 12& 3,780
OX2IHAHI 184,807,000& = 0.035 6,469
204 2 RPHAH| 1,642,260 1,641,480 780
02 2322 X4l 1,642,260 1,641,480 780
OAl & 650,000& * 1Y x 128 7,800
ORAIE 500,000& = 1Y x 128 6,000
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BT A=
X222 (3]
2o (52

A1) (O1EH/DIE)
)

2 2AH - BY - SR(E) - MRAY - BYS Abol HAE ot
O &F o8
o= 4= 400,000 * 49 « 128 19,200
Ob=s 250,000& = 53F » 123 159,000
Ol= 155,000& = 227 » 128 422,220
Oors 140,000 = 237H = 123 398,160
08~9= 105,000 = 279H = 123 351,540
o 250,000 + 1&8 « 128 3,000
OA AL 155,000& = 2& « 128 3,720
OXIE At 155,000& * 198 « 128 1,860
OJlsb6s 155,000& = 159 « 128 27,900
OJls7= 140,000& = 499H = 123 82,320
OJls89=2 105,000& = 102¥ = 123 128,520
OJls102 95,000&  23H = 128 26,220
Og&6=s 155,000& = 198 « 128 1,860
OEd7= 140,000& = 1& » 128 1,680
OZ &8s 105,000& = 1& * 128 1,260
SIHAZ 2Rl A & ,023,228 1,002,455 20,773
101 el 24 Hl ,023,228 1,002,455 20,773
03 RIAHAZZAE S ,023,228 1,002,455 20,773
O RIHAZZ X 12| ,023,228
oJlEZg 574,945
HES X 985,925% * 12& 354 414,089
RS 1,180,850 + 12& » 8HF 113,362
HYOIR 1,319,275& » 128 » 3H 47,494
o= 191,650
HIYEX 985,925& * 400% * 359 138,030
U2 1,180,850& * 400% * 8% 37,788
AR 1,319,275% * 400% * 3H 15,832
o HEF I 57,496
RS
985,9253 * 60% * 23] » 35 41,409
SELR
1,180,850& * 60% » 23| * 8 11,337
gels
1,319,275& * 60% » 23| * 3¥ 4,750
o AHI=+E 41,548
RSN 42,9928 = 202 « 359 30,095
HELR 50,582% 20 + 8¢ 8,094
AYolR 55,972% * 202 » 39 3,359
o AZt2l 22 85,829
HYEX
8,061& = 35% * 15AI12t ~ 1201 & 50,785
et
9,484% « 8& * 36AI2H » 1201 E 32,777
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0z N>
J2

EXNE= SN A
H2GZHI(SAH)(IIEH/DIE)
A2ZHI(5Z)

SR EB O3 - NRAIY - HAS Aol Bl =2
Gil &t 0
A olol=
10,4953 * 3H * BAI2+ « 120HE 2,267
o RJ|HAZZ2 X =4I
130,000 * 120H& + 469Y 71,760
HEEY NGA=ENEEMA HAXA 202,500 0 202,500
2 141,750
Al 60,750
101 eI24d| 202,500 0 202,500
= 141,750
Al 60,750
01 2= 202,500 0 202,500
OAMBIEXIE(93) 1,875,000& = 9% » 12& 202,500
= 141,750
Al 60,750
|23l 162,600 156,000 6,600
Jl=3| 162,600 156,000 6,600
201 L Bt2FH| 20,700 20,700 0
01 Al 22 H| 20,700 20,700 0
ogers=H| 20,700
cHINRPES P 200,000& * 12& 2,400
oMFEHH AZRE FL 100,000& = 12& 1,200
= J|E =2H| 7,100,000& = 14 7,100
ogAll| 10,000,000& * 14 10,000
202 4 4l 9,600 9,600 0
01 =LHO B 9,600 9,600 0
O Jlsgf8ul 9,600,000& * 14 9,600
203 & RE Tl 4,740 4,740 0
04 FEN2ILRFEY| 4,740 4,740 0
OFRN2ELRFA 395,000& = 12& 4,740
204 M2 =HAH| 127,560 120,960 6,600
01 MM HR=HAH| 127,560 120,960 6,600
OAIE 650,000& » 1H = 123 7,800
ORAE 600,000& » 1H = 123 7,200
Oo=3% 350,000& * 5% = 12& 21,000
Ob= 90,600
oal It AE 100,000 = 40 » 123 48,000
cg5.H. 8% 42,600
5801 2&) 150,000& * 219 = 12& 37,800
S (RFSHE) 50,000& * 8% = 123 4,800
ol ==& 80,000& * 1H = 123 960
S(EAD)(LUBDHE /AT 566,500 583,000 A 16,500
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04 Nz

=h

2 1
02
0%

!
x
ton
=
1]

@

e
re
02
04

- SHRAEAH) - A - BES

H
=20

22

20
B
2

HL

566,500

583,000

A 16,500

566,500

583,000

A 16,500

16,500

33,000

A 16,500

Ol XH(2001)
16,500,000& = 14|

16,500

16,500

33,000

A 16,500

550,000

550,000

23(20014)
550,000,000& = 14|

550,000

550,000

550,000
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= O
N 2 0l & AF S E A A
e TR SN HBSAD
HE: MUNYHE AYUSH(LUDTDHET/LUHT)
el "B AAs (Sl &)
- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
B2 ST 3,146,683 2,045,114 1,101,569
2 47,419
= 10,128
Al 3,089, 136
DX S YA (LB /YT 3,118,183 2,016,614 1,101,569
2 47,419
= 10,128
Al 3,060,636
Hes AL 909,000 441,632 467,368
= 3,000
Al 906, 000
ANoIEEEDS 29 25,000 27,182 A2,182
= 3,000
Al 22,000
201 YBr2 Y| 25,000 2,500 22,500
= 3,000
Al 22,000
01 AR 22l 25,000 2,500 22,500
O NYIFHESHDS AR 15,000,008 * 14 15,000
= 3,000
Al 12,000
O NEIH2SDS 2AZ(AIHIZIL)
10,000,002 * 14} 10,000
2o@ FYs oAs 3,800 13,800 £10,000
201 2Er2gy| 1,800 1,800 0
01 AR 22l 1,800 1,800 0
ogsi+g| 1,000
o2 FRHDE DHALL|
1,000,0002 * 14! 1,000
Osg+g 800
oZPANLEH AW SHEN =2
20,0008 * 402 K| 800
303 Ta2 2,000 2,000 0
01 Z&3 2,000 2,000 0
Oz IBASABTUE AL
2,000,0008 * 14! 2,000
Y I S ALY 691, 100 391,000 300, 100
201 YEr2gy| 107,600 84,000 23,600
02 B2l 107,600 84,000 23,600
ON&ZEIRT Y] 107,600
cHHY DI X2
8,500,008 * 128 102,000
SMIA X (HD) £BRY 56,0002 « 1007H 5,600
405 TH4HF S| 583,500 307,000 276,500




0z N>
-

(=N =
SHE HYsH AT B

AR B ™. (5 HEAY . A2 dE T H D=2t
E—|‘—|—‘|'o—|'g‘rl(9|j:”)' J2AIY - BE S O] AF OH (S,
01 &L S S FHSHI 583,500 307,000 276,500
OHHLLRE AEEHFLY  1,500,000& * 14004 210,000
OZgly7¢ 300,000& = 40CH 12,000
OttolefAgal 2 G0l AH
10,000,000& * 1CH 10,000
O-s=HAIL 2 WA 300,000& = 5CH 1,500
OL2ZENH 2 350,000
SNAEBRAATES O 204
250,000& =+ 4004 100,000
ocdAZATZENH P
1,300,000& = 104 13,000
OHAATE N 2L 28,000& * 1,500 42,000
oSZ22010(M UHZE W E)
150,000& * 1,3004 195,000
a828s 23 180,000 700 179,300
405 RtabFE S| 180,000 700 179,300
01 AL S S FHSHI 180,000 700 179,300
OBotss 22| AlAE T2 180,000
o 2 0otUSB 60,000& = 1,20094 72,000
oZ22t0|HE T2 26,000& + 1,20094 31,200
o T2 Al A 76,800,000& * 1CH 76,800
125 S2s 29&H| 9,100 8,950 150
202 o4 1l 7,600 7,600 0
01 2LHAHI 7,600 7,600 0
OFESF& ¢yl 7,600,000& * 14 7,600
203 g R F=&H| 1,500 1,350 150
03 Al FRHRF LAY 1,500 1,350 150
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